s (PP O Louany — PP x)Kouany)3o] = (A) S sw (MU O Kouany — PP x)Kouany)8o) = (A) S sw (PP O Kouany — PP (x)Kouan])3o] = (A) S

> >~ B B~ ~ N.\
A \4 A \% A

> n ! = 0 ! > i sl
S Py - o iy =]
S o o S 1= > o o oS =4 o o S
S 8 S o 8! o o oS S o S 8 S o o - o o O S o S 8 S o o a o o o S o
- © - © [S) - oo- 0T - © - © - o - 0T - - © - ® - o i 0T 0T

1 1 1 1

- 10

n
I
n
I
n
I

a o a a =) a =) a =) =) a =) a =) a =) a =) =) a =) o o a a a a
= = = = = = = = = = = = = = = = = = = = = = = = = = =
OFo 0QOFo 0OFE9 OFo OQOFo QFo OFEo 0QOFo QOFE9 OFo 0QOFo 0QOFE9 OFo 0QOFo QOFo OFo 0QOFo QOFE9 OFo 0QOFo QOFE9 OFo 0QOFo OFE9o OFo 0QOFo QOFE9
SEs P pac gas gat e gas gRf RS SEs P pac gas gat e ged gRR BRS Ses P pas gas gat gd gRR gRf 2R
o o o o o o o o o o o o o o o o o o o o o o o o o o o
£28 88 £B8% &£8% 88 £BX EB8% 88 8% £8% 88 £B8% £B8% 88 £BX £B8% 88 zZeR £8% 88 £B8% £8% 8§ £B8X £B8% 88 ZeR
SRRE SIRE SR 3BBE SIS SI[/E SIS SIS VIS SRIE SIRE SR I3 SIS SI[/E SIS BBE IBI<E SRIE SIE S[IE SIS SIS SI[/E SIS IVBE I3
BUNF DANE £AAF DUAF LIS SNNE  BUNE DdAF BASF DUNF DNNE oAAF DUAF BUNF BNNE BUNE DdNF BASF LUNF DNNE oAAF DANF LIS BONE BUNF DAAF BAdF
L1 1.1 L1 1.1 L1 1.1 L1 1.1 L1 1.1 L1 1.1 L1 1.1 L1 1.1 L1 1.1 L1 1.1 L1 1.1 L1 1.1 L1 11 L1 1.1 L1 1.1 L1 1.1 L1 11 L1 1.1 L1 1.1 L1 1.1 L1 1.1 L1 1.1 L1 1.1 L1 1.1 L1 1.1 L1 1.1 L1 1.1
IS | = [ [ [ [ ] | BN | | [ - Path 1280 (no PMTUD) 3 [ ] | - Path 1280 (no PMTUD) < INENE | ] | [ | - Path 1280 (no PMTUD)
g EEEE H | = L 1280 (no PMTUD) ¢ L 1280 (no PMTUD) ¢ mEm u T L 1280 (no PMTUD)
3 L 1280 (PMTUD) 4l L 1280 (PMTUD) % IEEE u Tl L 1280 (PMTUD)
& - 1500 z - 1500 & IEEE mn | - 1500
w [ b«-nv w Imn.v w
S o L Path 1280 (no PMTUD) T o L Path 1280 (no PMTUD) S of - n me L Path 1280 (no PMTUD)
% 8 L 1280 (no PMTUD) @Y L 1280 (no PMTUD) % %Y mE T ] L 1280 (no PMTUD)
T g L 1280 (PMTUD) = L 1280 (PMTUD) S & HEN u "ol L 1280 (PMTUD)
A m - 1500 a m - 1500 a m HAEEE EEEE Eem HEEN EEEm - 1500
o L Path 1280 (no PMTUD) N L Path 1280 (no PMTUD) N L Path 1280 (no PMTUD)
a B L 1280 (no PMTUD) B L 1280 (no PMTUD) B L 1280 (no PMTUD)
= L 1280 (PMTUD) . g L 1280 (PMTUD) 3 L 1280 (PMTUD)
5 2 - 1500 o 7 - 1500 g L 1500
K] =
r g L Path 1280 (no PMTUD) 5 g L Path 1280 (no PMTUD) o L Path 1280 (no PMTUD)
O ¢ L 1280 (no PMTUD) 2 3 L 1280 (no PMTUD) g L 1280 (no PMTUD)
T 3 L 1280 (PMTUD) o 3 L 1280 (PMTUD) 3 L 1280 (PMTUD)
m 3 L 1500 o 3 L 1500 3 L 1500
i
Oo o L Path 1280 (no PMTUD) [Ty I Path 1280 (no PMTUD) © 8 I Path 1280 (no PMTUD)
z; 8 L 1280 (no PMTUD) we o L 1280 (no PMTUD) ag = L 1280 (no PMTUD)
o & L 1280 (PMTUD) O 3 L 1280 (PMTUD) 2% L 1280 (PMTUD)
£ 3 L 1500 z : L 1500 - L 1500
c (=]
5 o L Path 1280 (no PMTUD) £ o L Path 1280 (no PMTUD) 2 N L Path 1280 (no PMTUD)
2 5 L 1280 (no PMTUD) € & L 1280 (no PMTUD) r & L 1280 (no PMTUD)
® 3 L 1280 (PMTUD) 5 g L 1280 (PMTUD) o g L 1280 (PMTUD)
o & L 1500 = 8 L 1500 £ 3 L 1500
E w m w R w
eSu o L Path 1280 (no PMTUD) O g L Path 1280 (no PMTUD) n_.w 9 L Path 1280 (no PMTUD)
2 ¢ L 1280 (no PMTUD) % g L 1280 (no PMTUD) = 3 L 1280 (no PMTUD)
8 5 L 1280 (PMTUD) 3 9 L 1280 (PMTUD) > 9 L 1280 (PMTUD)
= 3 L 1500 Zz 3 L 1500 e 3 L 1500
5 £
s L Path 1280 (no PMTUD) W4 o L Path 1280 (no PMTUD) E.o L Path 1280 (no PMTUD)
=5 2 L 1280 (no PMTUD) =58 L 1280 (no PMTUD) 258 L 1280 (no PMTUD)
=3 L 1280 (PMTUD) S=3 L 1280 (PMTUD) o g L 1280 (PMTUD)
o 0 L 1500 w o L 1500 o o L 1500
[}] [}] (]
c o I Path 1280 (no PMTUD) c o I Path 1280 (no PMTUD) c o I Path 1280 (no PMTUD)
o b L 1280 (no PMTUD) o b L 1280 (no PMTUD) o b L 1280 (no PMTUD)
N g L 1280 (PMTUD) N m._ L 1280 (PMTUD) N m_ L 1280 (PMTUD)
= L 1500 = 3 L 1500 = 3 L 1500
<< < o < o
N—m“o.mzn_m Nmmﬁ“meDm wmov”mmzom N—m“o.wzn_m_ wa_tmwzom mmov“mmzom N—m“o.wzom NnN,_Lo.wZDm mmoﬁmmzom N—m“o.wzom NnN,_Lo.mZn_m omoﬁmmzom N—m”o.wzom wa_—“mmZDm mmov“o.mzom Nrm“o.wzom NmN_—“meDu wmoﬁmeDm Nrm“o.wzom Nmm_—”mmzou wmoﬁmeDw N—m”o.mzn_m Nmmﬁ“meDm wmov”mwzou N—m“o.wzn_m_ NmN_tmen_m mmov“mmzom

PAdI 9AdI oelS-leng PAdI 9NdI oelS-lend PAdI IdI oElS-lend



